OFFICE OF THE EXECUTIVE ENGINEER EDUCATION WORKS DIVISION (WORKS & SERVICES) DEPARTMENT. THARPARKAR @ MITHI NO: XEN (E.W) TC/G-55/6/9 OF 2013, DATED. 12 /09/2013.

NOTICE INVITING TENDERS.

PPRA INWARD DIA

All the interested contractors/firms/parties meeting the eligibility criteria under PPRA Rules are invited to participate, in the tenders of works in the separate sheet attached.

- 1. Tender documents can be had from office of the Executive Engineer Education Works Division Mithi situated in the premises of works and services complex Mithi on production of tender fee as shown against each work (Non-Refundable), along with call deposit in the name of Executive Engineer Education Works Division Mithi for schedule bank from the date of publication of tenders in Daily News papers till 07-10-2013.
- 2. Tenders will be received back on, same day Upto 12:00 p.m. The tenders costing more than one lac will be opened in the presence of Superintending Engineer Works & Services Department, Tharparkar @ Mithi, and tenders costing less than one lac will be opened by the Executive Engineer Education Works Division Mithi on same day at 1:00 p.m in the presence of contractors or their authorized agents in the office of the Executive Engineer Education Works Mithi if available in the Head-Quarter other-wise on the next working day.

3. Conditional Tender will not be accepted.

4. The Procuring agencies shall announce the result of bid evaluation in the form of a report, giving justification for acceptance or rejection of bids at least 10 days prior to the award of procurement contract.

5. The Procuring Agency may reject all or any bids subject to the relevant provision of PPRA Rules.

6. Eligibility conditions for intending participants are as under.

- i. Registration with Pakistan Engineering Council in the relevant field of specialization of work and to the extent of tender amount of each work.
- ii Bio data of Engineers and technical staff working with the firm.
- iii. Documentary evidence of works executed /works in progress and certificate of satisfactory completion of works by the concerned Department.

iv. List of works in progress indicating cost of each work and copy of letter of award of work.

v. List of Machinery and equipment available with documentary evidence of its ownership certificates of Bank showing credit worthiness along with Bank statement.

 Registration with income Tax department (NTN Certificates) and copy of N.I.C.

- 7. Under Taking on Affidavit that firm is not involved in any litigation or abandoned any work in the Department.
- 8. Affidavit to the effect that the Firm/contractor have not been black listed previously by any executing agency.
- 9. Affidavit with effect that all documents/particulars/information furnished are true & correct.
- 10. In case of Firm, list of partners/Partnership Deed, giving full particulars of Directors/proprietors or others connected along with Power of Attorney. In case of being sole proprietors such undertaking on affidavit be furnished.
- 11. In case of works costing below Rs.2.500 (M) the conditions @ S.No.6 will not be applicable.
- 12. In case any of works remain un-responded the dates of issues & receipts will be as under:
- 13. The N.I.T can been seen on Sindh Government web site www.sindh.gov.pk

Particular	In case of Un-Responded work				
1 01 010		2 nd Attempt	3 rd Attempt		
Date of Reception application & issuance of Tenders.	Up to	14-10-2013			
Date of Receipt & Opening of Tenders (Receipts up to 1:00 P.M & Opening 02:00 PM).	Upto	14-10-2013			

EXECUTIVE ENGINEER EDUCATION WORKS DIVISION THARPARKAR @ MITHI

- 1/- The Secretary Information Technology, Government of Sindh Secretariat No. 6 @ Karachi along-with copies of N.I.T for favor of information and placing them on the Web site of Sindh Government.
- 2/- Seven (7) copies of N.I.T of forwarded to the Director Information publication Relation (Advertisement) Karachi, for publication in the English, Urdu, and Sindhi (03) news papers only.

Copy forwarded with compliments for information to: -

- 3/- The Chairman SPDC Tharparkar @ Mithi.
- 4/- The Deputy Commissioner Tharparkar @ Mithi.
- 5/- The Superintending Engineer Works and Services Department Tharparkar @ Mithi.
- 6/- The District Education Officer Tharparkar @ Mithi.
- 8/- The Assistant Engineer (Education Works Sub-Division) Mithi, Diplo, Chachro, Nangerparkar and Electrical Mithi with instructions to submit the detail working estimates due course of time.
- 9/- Copy Notice Board / Draftsman / Head Clerk / Tender Clerk.

10/- Office Order file.

EXECUTIVE ENGINEER
DUCATION WORKS DIVISION
THARPARKAR @ MITHI

LIST OF WORK

S.No		Name of Location	Taluka	Estimated Cost	Earnest Money	Tender Fee	Time for Completion
		Construction of One Roomed Shelterles Class Room Building in Primary Scho Tharparkar Chachro-B (13-Units)					
1	GBPS	Bihani Chelhar	Chachro	0.998	20000	500	06 Months
2	GBPS	Bajir Marho Bajir Marho	Chachro	0.998	20000	500	06 Months
3	GBPS	Mangrio Paro Bitra	Chachro	0.998	20000	500	06 Months
4	GBPS	Mehari Bheel Paro	Chachro	0.998	20000	500	06 Months
5	GBPS	Moti Colony Chelhar	Chachro	0.998	20000	500	06 Months
6	GBPS	Ahmed jo Tar	Chachro	0.998	20000	500	06 Months
7	GBPS	Arnaro Manjhi	Chachro	0.998	20000	500	06 Months
8	GBPS	Bhuro Bheel Dhani	Chachro	0.998	20000	500	06 Months
9	GBPS	Long Malhio	Chachro	0.998	20000	500	06 Months
10	GBPS	Mehrab Dino	Chachro	0.998	20000	500	06 Months
11	GBPS	Menhdro Paro Aklyoon	Chachro	0.998	20000	500	06 Months
12	GBPS	Moondro	Chachro	0.998	20000	500	06 Months
13	GGPS	Dabarcha	Chachro	0.998	20000	500	06 Months
		Construction of One Roomed Shelterles	3 / Italianion o				
1.4	CDS	Class Room Building in Primary Scho Tharparkar Chachro-C (13-Units)	ools in Distric	t	20000	500	06 Months
14	GPS	Class Room Building in Primary Scho Tharparkar Chachro-C (13-Units)	Chachro	0.998	20000	500	
15	GPS	Class Room Building in Primary Scho Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro	Chachro Chachro	0.998	20000	500	06 Months
15 16	GPS GPS	Class Room Building in Primary Scho Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani	Chachro Chachro Chachro	0.998 · 0.998 · 0.998	20000	500	06 Months
15 16 17	GPS GPS GPS	Class Room Building in Primary Scho Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro	Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998	20000 20000 20000	500 500 500	06 Months 06 Months
15 16 17 18	GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani	Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000	500 500 500 500	06 Months
15 16 17 18	GPS GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon	Chachro Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000	500 500 500	06 Months 06 Months 06 Months 06 Months
15 16 17 18 19 20	GPS GPS GPS GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon Molvi Para Rawastar	Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000	500 500 500 500 500	06 Months 06 Months 06 Months
15 16 17 18 19 20 21	GPS GPS GPS GPS GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon Molvi Para Rawastar Muhamamd Umer Samejo	Chachro Chachro Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000	500 500 500 500 500 500	06 Months 06 Months 06 Months 06 Months 06 Months 06 Months
15 16 17 18 19 20 21 22	GPS GPS GPS GPS GPS GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon Molvi Para Rawastar Muhamamd Umer Samejo Nangodar Ji Dhani	Chachro Chachro Chachro Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000 20000	500 500 500 500 500 500 500	06 Months 06 Months 06 Months 06 Months 06 Months
15 16 17 18 19 20 21 22 23	GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon Molvi Para Rawastar Muhamamd Umer Samejo Nangodar Ji Dhani Rahim Dino Mehran Poto	Chachro	0.998 0.998 0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000 20000 20000	500 500 500 500 500 500 500 500	06 Months
15 16 17 18 19 20 21 22	GPS GPS GPS GPS GPS GPS GPS GPS GPS	Class Room Building in Primary Schot Tharparkar Chachro-C (13-Units) Chatoon paro Karooro Hissan Paro Karooro Kabir ji Dhani Khan Muhamamd Samoon Karooro lalo Ji Dhani Mange Ladho Paro Samoon Molvi Para Rawastar Muhamamd Umer Samejo Nangodar Ji Dhani	Chachro	0.998 0.998 0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000 20000 20000	500 500 500 500 500 500 500 500	06 Months

S.No		Name of Location	Taluka	Estimated Cost	Earnest Money	Tender Fee	Time for Completion
×		Construction of One Roomed Shelte Class Room Building in Primary S Tharparkar Chachro-D (13-Units)				ž!	15
27	GBPS	Bagal Rahimoon	Chachro	0.998	20000	500	06 Months
28	GBPS	Dinar ji Veri	Chachro	0.998	20000	500	06 Months
29	GBPS	Gulabani	Chachro	0.998	20000	500	06 Months
30	GBPS	Hirajani	Chachro	0.998	20000	500	06 Months
31	GBPS	Parno	Chachro	0.998	20000	500	06 Months
32	GBPS	Dahili	Chachro	0.998	20000	500	06 Months
33	GBPS	Habatani Paro Dhori	Chachro	0.998	20000	500	06 Months
34	GBPS	Jati jo Tar	Chachro	0.998	20000	500	06 Months
35	GBPS	Kathi ji Veri	Chachro	0.998	20000	500	06 Months
36	GBPS	Kheraho	Chachro	0.998	20000	500	06 Months
37	GBPS	Pandhi Paro Noorani	Chachro	0.998	20000	500	06 Months
38	GBPS	Hasil Daris	Chachro	0.998	20000	500	06 Months
39	GBPS	Tajia Bah	Chachro	0.998	20000	500	06 Months
		Construction of One Roomed Shelte Class Room Building in Primary S Tharparkar Chachro-E (13-Units)					
40	GBPS	Allah Dino Sangrasi	Chachro	0.998	20000	500	06 Months
41	GBPS	Misrani paro Jhanjhi	Chachro	0.000	20000	***	
			Chacino	0.998	20000	500	06 Months
42	GBPS	Muhammadani Paro Jhanjhi	Chachro	0.998	20000	500	06 Months
42	GBPS GGPS	Muhammadani Paro Jhanjhi Mir Khan Khaskheli					
1,00			Chachro	0.998	20000	500	06 Months
43	GGPS	Mir Khan Khaskheli	Chachro Chachro	0.998	20000	500 500	06 Months
43 44	GGPS GGPS	Mir Khan Khaskheli Nebaro Gaju	Chachro Chachro Chachro	0.998 0.998 0.998	20000 20000 20000	500 500 500	06 Months 06 Months 06 Months
43 44 45	GGPS GGPS GGPS	Mir Khan Khaskheli Nebaro Gaju Wakeel Paro Jhanjhi	Chachro Chachro Chachro	0.998 0.998 0.998 0.998	20000 20000 20000 20000	500 500 500 500	06 Months 06 Months 06 Months
43 44 45 46	GGPS GGPS GGPS GBPS	Mir Khan Khaskheli Nebaro Gaju Wakeel Paro Jhanjhi Bhane jo Tar	Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000	500 500 500 500 500	06 Months 06 Months 06 Months 06 Months
43 44 45 46 47	GGPS GGPS GGPS GBPS	Mir Khan Khaskheli Nebaro Gaju Wakeel Paro Jhanjhi Bhane jo Tar Chando Paro Saloo Bheel	Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000	500 500 500 500 500 500	06 Months 06 Months 06 Months 06 Months 06 Months 06 Months
43 44 45 46 47 48	GGPS GGPS GGPS GBPS GBPS	Mir Khan Khaskheli Nebaro Gaju Wakeel Paro Jhanjhi Bhane jo Tar Chando Paro Saloo Bheel Salhu Bheel	Chachro Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000 20000	500 500 500 500 500 500 500	06 Months 06 Months 06 Months 06 Months 06 Months 06 Months
43 44 45 46 47 48 49	GGPS GGPS GBPS GBPS GGPS GBPS	Mir Khan Khaskheli Nebaro Gaju Wakeel Paro Jhanjhi Bhane jo Tar Chando Paro Saloo Bheel Salhu Bheel Tdam Rahimoon Mitho Tar	Chachro Chachro Chachro Chachro Chachro Chachro Chachro Chachro	0.998 0.998 0.998 0.998 0.998 0.998 0.998	20000 20000 20000 20000 20000 20000 20000 20000	500 500 500 500 500 500 500 500	06 Months

S.No		Name of Location	Taluka	Estimated Cost	Earnest Money	Tender Fee	Time for Completion			
	Construction of One Roomed Shelterless / Addition of Class Room Building in Primary Schools in District Tharparkar Chachro-F (13-Units)									
53	GBPS	Kabir Paro M.Siddique Gaju	Chachro	0.998	20000	500	06 Months			
54	GBPS	Kesrar Charnore	Chachro	0.998	20000	500	06 Months			
55	GBPS	Manjhi Rind	Chachro	0.998	20000	500	06 Months			
56	GBPS	Misri Gaju Charnore	Chachro	0.998	20000	500	06 Months			
57	GBPS	Mureed ji Dhani	Chachro	0.998	20000	500	06 Months			
58	GBPS	Adat ji Dhani	Chachro	0.998	20000	500	06 Months			
59	GBPS	Hafiz Noor Muhammad Mangrio	Chachro	0.998	20000	500	06 Months			
60	GBPS	Jhando Lashari	Chachro	0.998	20000	500	06 Months			
61	GBPS	Ramzan Natho	Chachro	0.998	20000	500	06 Months			
62	GBPS	Ali Ji Dhani Bhukrio	Chachro	0.998	20000	500	06 Months			
63	GBPS	Budho Thebo Paro Neebaro	Chachro	0.998	20000	500	06 Months			
64	GGPS	New Bhalesar	Chachro	0.998	20000	500	06 Months			
65	GBPS	Padiral	Chachro	0.998	20000	500	06 Months			

EXECUTIVE ENGINEER ADUCATION WORKS DIVISION THARPARKAR @ MITHI